
77

5 5 65

2×

×

2 6
= =

63

2 　　にあてはまる数を書きましょう。(うすい字はなぞりましょう。)

4488 ××
③ = = ⑥ =

3 3×
=

6×

3 3×

② = = ⑤ = =
4 4× 5 5 5×

= ④ = =
55 ×

日にち：　　　月　　　日

名まえ

1 　　にあてはまる数を書きましょう。(うすい字はなぞりましょう。)

3 3× 2 6 4 4×
① =

③ 確認

３

25

32

35

18

24

18

×2

× 2
×3

4

×

14

20

12

28

15



77

5 5 65

2×

×

2 6
= =

63

2 　　にあてはまる数を書きましょう。(うすい字はなぞりましょう。)

4488 64 ××
③ = = ⑥ =

3 3× 6
=

6 3×

3 3× 4

② = = ⑤ = =
4 4× 5 5 5× 3

= ④ = =
55 7×

日にち：　　　月　　　日

名まえ

1 　　にあてはまる数を書きましょう。(うすい字はなぞりましょう。)

3 3× 2 6 4 4× 7
① =

③ 確認 答え

３

25

32

35

18

24

18

×2

× 2
×3

4

×

14

20

12

28

15

3

9




